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The average height of 12 students in a class was calculated as 152 cm. On
verification it was found that one reading was wrongly recorded as 148 cm instead of
172 cm. Find the correct mean height ‘ ' :

(4) 150 cm
(B) 156cm
(C) 158 cm
D) 154cm
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110. The difference of the squares of two positive numbers is 45. The square of the
smaller number is four times the larger number. Find the numbers

(A) 3and15
(B) 9andb
(C) 3and16
®) 9and6
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111. Find the simple interest on T 7,500 at 8% per annum per 1 year 6 months.

(&) 2600 | ®B) 700

©) 7800 | D) "t 900
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112. Cricket player Dhoni's average in first 30 matches was 72 runs. Aftelrr%éilrsrt match, his -
average raised as 73 runs. How many runs did he make in 31 match? |
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192. Find the LCM of 3(a-1), 2(a -1}, (-1}
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123. Find the cube root of lg—i '
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131. The radri'u;s of a cart v{rhee_l is 35 cm. How many revolution does 1t make in ‘traveirlirng
a distance of 154 m | |
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132. Saran is 6 times as old as his son Sankar After 4 years he w111 be 4 times as old as

his son. What are their p1 esent ages?

(A) 30,_5' - (B) 36,6
© 4838 D) 24,4
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136.
was selected at random. Find the probability that he would not have hit a “six”.
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' 144. The maximum temperature in a city on 7 days of a certain week was 34.8°C, 38.5°C,
' *33.4°C,_ 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean temperature for the week

(A)  34.8°C
B) 34.9°C
(©)  34.7°C
D) 35.2°C
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145, If1+2+--+n=K then 12 +2 4 .- +n® is equal to
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146. The common ratio of the G.P. a" ", a™, a™" 1s
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156. Express 0.35 into fraction

(A).%- . ‘ .(B) ]i)_‘f"o

(.C) 3-1% | DR (D.) %'.

0.35 eren eraTanawt AETETLONS LOMHH)E

@ g—g o . @

(© 31% o B *1"32—0
N-._""—-'_' o 'Zi'aﬂs 6.

lOONWN 2_. 3g. 3‘S3$-3§3$ .
100N = BS_'-}'"O?B $ 35S 35 o

bON = }Sﬂ*_‘\) _

qu o 3y
N = 26
49




157. How many numbers are there between 200 and 800 whlch are exactly d1v151ble by 6

8 and 9?

(A) One

B) Two |
"(C) Three

(D) Foﬁr

200 &b 300 'éS@Lbr@mi_Gu_l 6,8 mﬁj@n’p 9 aydlis arameaTTéd AGULS Fig Ll GTRTEET THS@T

D GTenar?

@A) gy
B)  @ran®y

- ©) wem -
D) g;nm@

68 _q | asew' G ww' @@W% Bwruu Lsm-é‘wgw&m
fo@'qu L,Orfv R Lw
A L7 5
- bgq 25-4 Q@%%%N%hﬂ_'._;#}gpﬁ}:
T2 t»;p«o aam QLABHY ¢

e (X1 = '72.- |
211> 7 (il 200 & iB = 2 GOl

W 200 Sl e
e xI2 2 360




168. A group of 100 candldatea have their average helght 163. 8 cm w1th coefﬁment of
variation 3.2. What is the standard deviation of their heights?
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- 169. The.presenlt éges of Reena and Usha are 24‘years_ and 36 years respectively what

was the ratio between the ages of Usha and Reena, 8 years ago? |
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170. In a Geometric progression ¢, = g‘; ty = é Then the common ratio is
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171. If a, = -1 then find a,, a; in ar;:a,,__lz, n>tVneN.
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182 - A can do a plece of work in 20 days and B can do it in 30 days. How long will they
take to do the work together? |
(A) 10days

®) 12days

(C). 11 days |
(D) 20days ' o ' E ¥ i
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183. If 14 compositors can conipos_e 70 pages of a book in 5 hours; how many compesitors
- will compose 100 pages of this book in 10 hours?
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197. The ratios of the resi)ective heights and the respective radil of two cylinders ai"_e 1:2

and 2: 1 respectively. Then _their'respe'ctive volumes are in the ratio.
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198. At what rate of interest a sum of money doubles itself in 10 years in simple interest?
@A) 10% - _ ‘ (B) 20%

(C) 50% - D) 25%
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1199. Simphify
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200. The total Slirfacé area-(_)f cube is 384 méf. Find the side of the cube
(A) 3m o (B) 8m

'(C) im . (D) 6m
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